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0. The maximum rate of precipitation occurs in:

a2

122

13.

14.

52

16.

17.

18.

19.

a.
C,

The zone of antigen excess
The zone of antibody excess

In Sandwich ELISA:

a,

C.

Antibody is sandwiched between two
antigen
Antigen and antibody remains parallel

b.
d.

b.

d.

Indirect ELISA is routinely used for detecting:

a.
C.

Secondary antibody
HIV Infection

b.
d.

The zone of equivalence
None of the above

Antigen is sandwiched between two
antibodies
None of the above

FIV disease
Fluroscent antibodies

The surface of a large antigen on which the antibody will bind is:

a.
C.

Active site
Epitope

True with monoclonal antibodies is:

a.

They are more sensitive than
conventional antisera’

They are produced by myeloma -T
cell hybridoma

The full form of EMBL is:
a. England Molecular Biology

C.

The expanded form of the abbreviation DDB] is:
a.

C.

Laboratory
European Mendlian Biology
laboratory

DNA Data Bank of Japan
DNA- Data Bank of Britain and Japan

Fab determines the biological
properties of immunoglobulin

¢. Two chains of Fab are held together by

disulphide linkage

a. Macrophages

C.

T-cells

a. Recipient must have all types of

antibodies

¢. Denditric cells of recipient should be

higher in number

21

b.
d.

b.

b.
d.

b.

d.

Memory cells of immune response are clones of:

b.
d.

b.

d.

Antigenic site
Hapten

They are formed of a single class of
immunoglobulin with single antigenic
determinant sites

They are produced by a single clone of
T lyvmphocytes

European Molecular Biology
Laboratory

Established Molecular Biology
laboratory

DNA - DNA data bank of Japan
None of the above

The incorrect statement about Fab segment of Immunoglobulin is that:
a.

Itis an insoluble fragment

Two Fabs in antibody

B-cells
Both B-cells and T- cells

Which one of the following conditions determines acceptance and rejection of tissues
during transplantation?

MHC of donor and recipient should be
matched

Donor’s APC’s should be matched
with recipient
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